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int CountBit(int x)
{

int ret = 0;

while (X)

{

ret++;

¥

return ret;

}
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J7FE a*b = (a or b) * (a and b), 7E a,b #HL [0, 31] HHJEEEET,
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M. PFEEFEER GL4/8, 888y, Hitk324)

1.

#include <cstdio>
int main() {
int x;
scanf("%d", &x);
int res = 0;
for (int 1 = 0; 1 < x; ++1) {
if (i *1i% x==1) {
++res;
}

}
printf("%d", res);
return 0;

}

HiN: 15
LifaE

2. #include <cstdio>

int n, d[100];
bool v[100];
int main() {
scanf("%d", &n);
for (int 1 = 0; 1 < n; ++1i) {
scanf("%d", d + i);
v[i] = false;
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}

int cnt = 9;
for (int i = ©; i < n; ++i) {
if (tv[i]) {
for (int j = i; !v[j]; j = d[j]) {
v[j] = true;
}
++cnt;
}
}
printf("%d\n", cnt);
return 0;

}

BIN: 107143259806
B

#include <iostream>
using namespace std;
string s;
long long magic(int 1, int r) {

long long ans = ©;

for (int i =1; i <=r; ++1) {

ans = ans * 4 + s[i] - 'a' + 1;

}

return ans;
}
int main() {

cin >> s;

int len = s.length();

int ans 0;

for (int 11 = 9; 11 < len; ++11) {

for (int rl = 11; rl < len; ++rl) {
bool bo = true;
for (int 12 = 9; 12 < len; ++12) {
for (int r2 = 12; r2 < len; ++r2) {
if (magic(ll, rl1) == magic(1l2, r2) && (11 !=

12 || r1 1= r2)) {

bo = false;
¥

}

}
if (bo) {
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ans += 1;

}

cout << ans << endl;
return 0;

}

#i\: abacaba
.

#include <cstdio>
using namespace std;
const int N = 110;
bool isUse[N];
int n, t;
int a[N], b[N];
bool isSmall() {
for (int i = 1; i <=
if (a[i] !'= b[i])
return false;
}
bool getPermutation(int
if (pos > n) {
return isSmall();
}
for (int i = 1; i <=
if (!lisUse[i]) {

n; ++i)
return a[i] < b[i];

pos) {

n; ++i) {

b[pos] = i; isUse[i] = true;
if (getPermutation(pos + 1)) {
return true;

}

isUse[i] = false;

}

return false;

}

void getNext() {
for (int i = 1; i <=

isUse[i] = false;

}
getPermutation(1);
for (int i = 1; i <=

n; ++i) {

n; ++i) {

CCF NOIP2018 #IFE8 =4l C++iE = il

Heul, 3o



a[i] = b[i];
}
}

int main() {
scanf("%d%d", &n, &t);
for (int i = 1; i <= n; ++i) {
scanf("%d", &a[i]);

}

for (int i = 1; i <= t; ++i) {
getNext();

}

for (int i = 1; i <= n; ++i) {

printf("%d", a[i]);

if (i == n) putchar('\n'); else putchar(' ");
}

return 0;

}

MIN1l: 610164532
fi 1. (341
BiN2: 6200153426
fi 2: (541)

h. EEERF G288, 8% 1445, 32840

1 AT —P128ngHEa1P C(BI1EnpRg—PDEAEP T I T8I —1KD , 2q; 9
FIMIBZ JEH AP E RN E, WIRAGFAEXFEINE, Wg =n+
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THREF N THESIP, (AN MEERRME T ER. b r. CGE-F
245, H&34)
HIEVEE 1 <n <105,

#include <iostream>
using namespace std;
const int N = 100010;
int n;
int L[N], R[N], a[N];
int main() {

cin >> n;

for (int i =1; i<

int x;

n; ++i) {
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}

>
e

for (int i = 1; i <= n; ++i) {
R[1] = ()
L[i] = 1 - 1;

}

for (int i = 1; i <= n; ++i) {
LI (3) 1-=L[a[i]];
R[L[a[i]]] =R[__(4) T;

}

for (int i = 1; 1 <= n; ++1) {

cout <« (5) << " "y

}
cout << endl;
return 0;

FUNEESE N A (N ANEE 10000 .

R LAFT 95 Fr(Hri% A2 A IR 9 0.95 ).

SRNIE ST P 0 b T 7 e/ BRI

BN: AT BN FETRRNAT, TR 2 AT R AR

% a[i], bli]

Bit: HH AT AN, SRR TR E R

ey, R 229, HR370)

#include <cstdio>
#include <algorithm>
using namespace std;

const int Inf = 1000000000;
const int threshold = 50000;
const int maxn = 1000;

int n, a[maxn], b[maxn];
bool put_a[maxn];
int total_a, total b;
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double ans;
int f[threshold];

int main() {
scanf("%d", &n);
total_a = total b = 0;
for (int i = 0; i < n; ++i) {
scanf("%d%d", a + i, b + i);
if (a[i] <= b[i]) total_a += a[i];
else total b += b[i];
}
ans = total_a + total_b;
total_a = total b = 0;
for (int i =0; 1 < n; ++1i) {
if (@ ) A
put_a[i] = true;
total_a += a[i];
} else {
put_a[i] = false;
total b += b[i];
}
}
if (@) ) A
printf("%.2f", total_a * 0.95 + total_b);
return 9;
}
f[e] = o;
for (int i = 1; i < threshold; ++i)
f[i] = Inf;
int total_b_prefix = 0;
for (int i = 0; 1 < n; ++1i)
if (lput_a[i]) {
total b _prefix += b[i];
for (int j = threshold - 1; j >= 0; --j) {
if ( (3) >= threshold && f[j] != Inf)
ans = min(ans, (total_a + j + a[i]) * ©.95
+_ (4 );
3] =min(f[J] +b[i], j>=a[i]? _(5)  :Inf);

}
}
printf("%.2f", ans);
return 9;
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